COMBINED CIVIL SERVICES EXAMINATION- III (GROUP- III.A SERVICES) -

28/01/2023
1. International airports in Tamil Nadu are in number
a. 4 b.3 c.2 d.1 e. Answer not known
SLODBTL 196D © 61T LIGTeTL (B aIILomesT  [Hlen6e0UIBIG6NT LG
a. 4 b.3 c.2 d.1 e. alewL OFflwelsvenco
2. Innuyir Kaapoom - Nammai Kaakkum 48 scheme was launched in Tamil Nadu with
the aim of
a. Reducing death due to cancer b. Reducing death due to road accidents
c. Reducing death due to corona d. Reducing death due to mal nutrition

e. Answer not known

SODHTL gL ‘Beteniul] smiGumTD BHLoewwd STHGH 48" FH L GHHler Crrésd
UBBIGHTLI cpevld gBUGLD BBLIMLS GMBHSH60

FTeme0 allLSHE6I cpevlD GBLBLD BBLIHLIS (GHDBEHH60

Car@yment epevld gBUGL BBLINLS GmBHHE0

o' L & F5H GMBUTH cpevld gBUGBL SBLemUS (&HemBSHHe0

allewL  OFflweledensv

o oan o

3. What removes inner negativity of a mankind like a lamp according to valluvar?
a. Lamp with truth’s pure radiance b. Light of the Family
c. Blessed of Lamp d. Lamp of Penance
e. Answer not known
DIBSHFHeT DHewenl CUTHGD alendbITH 6U6TEHE]T 61HMENDH FnBIPH GTBTT?
a. Qumuiwr elend@ b. ®&GbU alendE C. SIHET alendE
d. seu alenédg e. alowL Gafuialsdamen

4.  How does valluvar portray meat eaters?

a. Irregular b. unkind c. Ignorant

c. Penniless e. Answer not known

LJ6UTEm6V ©_6mTeUTdhaddh CBTeTLIAUNT 6UGTEHET 6TeUeITN SHIEnLDSHESMBITT?
a. (pevpuiBBe) b. simenBpeu) C. oleubpe
d. Gummenmmeuy e. alowL Gxfawaledenso

5. The autobiography ‘The Race of my life’ is related to

a. P.T. Usha b. Milkha Singh c. Kapil Dev
d. Mahendra Singh Dhoni e. Answer not known

‘@ Grod &I .1 WD V.. GIRIB S&WFflend WMHLT COFHTTLemL wigh?

a. U o agr b. Wevsr HAmi c. aLlsv Baell
d. wBampdy FHmi Camend e. alewL Gzfluialsdensv
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11.
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Metro railway system and services are operational in India in the year 2022
a.13 b.14 c.15 d.16 e. Answer not known
QL Gymr guied Sl BBID CFameuseT @bHwTaled 2022 SO 660

CFwebLBHBS

a.13 b. 14 c.15 d. 16 e. alowL Ozfuialsvamen
Which one is an example for Agro based Industry?

a. Sugar Mill b. Cement c. Steel factory

d. Mining e. Answer not known

GouenmemienioemU! SIQLILIHL WITHS OBTeniL. CHTHBFTEN60 61517

a. FIHHMT LEN6V b. AGwewmi gLemev C. 6..& OaTPBaTens0

d. sgmisd GHTeRIBH60 e. alewL OFfwalevenev

Assertion and Reason type:

Assertion [A] : In the unorganized sector the employment terms are not fixed

Reason [R] This sector includes a large number of people who are employed
on their own and doing small jobs.

a. Both (A) and (R) are true and (R) explains (A)

b. Both (A) and (R) are true and (R) does not explain (A)

c. (A) is correct and (R) is false

d. (A) is false and (R) is true

e. Answer not known
BNl LOBDID STFEUID GUNSD:

ammm (A) : REIGUUBSSULL LTS SHieBuled GauenevsumuiliL] 6UenTUIEHBSET
BEneOWITRISHTS  B(HEBTSHI.
sryewd (R) - BHamB  GWOSTR Uflub grmemorer, Fp Siemailed

CaTHe00FUICMTemT © 6TerL Salig.
appl (A) wpp smyeod (R) &f, (A) sppissten smyeod (R) &f
apm (A) wppd smend (R) #f, (A) sppisster smyemd (R) seup
app (A) f smeod (R) seum
. &pp (A) seup smyenid (R) &4
allewL  OFflweaiedensv

©C a0 o

The next term of the sequence

4,6,12,14, 28, 30, is

a. 32 b. 60 c. 62 d. 64 e. Answer not known
Hetaumd OHTLT auflensulet SIBHS 616wt

4,6,12,14, 28, 30,

a. 32 b. 60 c. 62 d. 64 e. alowL Oxflweaisoensv

If SQUARE is denoted by 1917211185, then RECTANGLE is denoted by

a. 1753201147125 b. 1853201114126 c. 1853201147125

d. 1953201147125 e. Answer not known

SQUARE eeiug 1917211185 eaens@g @nidsiu’Lmed  RECTANGLE  aaiugy)  sreisumy
GBSSLILIBLD.

a. 1753201147125 b. 1853201114126 c. 1853201147125

d. 1953201147125 e. alewL Oaflwaisoensv

The ration of boys and girls in a club is 3 : 2 Which one of the following could be the
actual number of members?
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12.

13.

14.

15.

16.

17.

18.

a. 16 b. 18 c.24 d. 25 e. Answer not known
RH  EIBHH6L © _6T6m  LOTewIaITH6T  oBmID  WwTewelsefer aldlsd 3 0 2 el
LNeoTeu(THeUGTEUMBMIGT 618 2 6wTenLOUITET  61600T6wl &endBU6TeN LTSNS  (Hlbd aTmsg?
a. 16 b. 18 c.24 d. 25 e. alowL Gz fuialsvamen
If 7 : 5 is in proportion to x : 25 then the value of x is

a. 35 b. 25 c.175 d. 125 e. Answer not known
75 gpeigl X : 25-6@ olFgH Fb eeied X' 6T LG

a. 35 b. 25 c. 175 d. 125 e. alewL Osflweaisoensv
Which one of the following mosque is best known for its tower of victory?

a. Begumpuri Mosque b. Quwwat - ul - Islam Mosque

c. Moti Ki Masjid d. Jamali Kamali Mowque

e. Answer not known

Leteupld @ FHHeMev Geumml CamrsHsmed sab LFueooTer WwE@d 67
a. Guaibyfl wEd b. Gaurs 2 60 Gerveomd DG

c. Gumly &-erdads d. sgomed-siomed 1@

e. alewL OFFlwalsvenev

Timur invaded India during the year

a. 1396 b. 1398 c. 1414 d. 1451 e. Answer not known
ST DHAHWT 10H LUDLOWBSHSH et 61517

a. 1396 b. 1398 c. 1414 d. 1451 e. el OFfwealsvamev
Which State implemented first the Panchayati Raj System/

a. Rajasthan b. Bihar c. Kerala

d. Tamil Nadu e. Answer not known

6hS LOMHIGVLD (LGET (IPHeU60 ‘LiGhITUSHSH JT’° (LpewBenl QFwIeOLIBEHHUISH!?

a. Bymerdgmes b. Sammi c. Gayerid

d. snTh e. alewL OFHflwalevenev

Who was the first woman to pay penalty for violation of salt laws during the Civil
Disobedience Movement in Tamil Nadu?

a. Rukmani Lakshmipathi b. Muthulakshmi Ammaiyar

c. Muvalur Ramamirthan d. Annie Besant

e. Answer not known

SUOSHH60 FUL 1YL BubsdsdHear Curgd o LyF FlLmsmen LPWISBSTS DILITTSHLD
&L 19Ul (1p&H60 GlLieuToewfl  WImT?

a. (héwewh 6ol gL b. wéaeol &l SibewowiTT

C. CLPAUGVTT BImoTOT&HLD d. oel Quge

e. alenL Ozflwalsvemnsv

What helps virtue and also guards us from all evil?

a. Patience b. Love c. Pride

d. Education e. Answer not known

OIBHHBEG LB, WBHHBSD HEHew! 61GIBISH H(HEUTEHEUT 61HN6TSH TnNIOIBTT?
a. Qummiento b. ey c. Qumemip

d. seval e. alenL QFflwelsvenev

Moovalur Ramamirdham was born in the district of
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19.

20.

21.

22.

23.

24.

a. Cuddalore b. Mayiladuthurai c. Thanjavur
d. Kanniyakumari e. Answer not known

CLPGUGIITT  @TMLOMLATSHLD WreUl L S&Hev LIBhHSHTT

a. &L b. wuleorGaienms C. HEhaTalT
d. seefwrgLof e. aleowL QFflwalsoensv

Caudal Vertebrae and Vermiform appendix are example for

a. Secondary organs b. Analogous organs c. Homologous organs
d. Vestigial organs e. Answer not known

(peTEleeVIDL| LOBBILD (L 6V6UTED 6IHBE 61HHHIHHTL L MGHLD?

a. @UewiLTD Hlemev 2 mIIL|&H6IT b. Ggwed &5 2 mIsel

C. MWL @R5HSH 2 _MILILISH6T d. a5s o2 _miiymen

e. alemL OFfluwailsoensv

Identify the incorrectly matched deficiency disorder.

a. Vitamin Bs - Pellagra b. Vitamin B¢ - Dermatitis

c. Vitamin B> - Beriberi d. Vitamin B2 - Perinicious Anaemia

e. Answer not known.

SHUBTHL QUTHHSHUILL (BHelTern GHedmBUTG ChTulenenn e .

a. el Lifer Bz - GQueornsym b. eneul Lifas1 Bs - QLiTiomgL 610

c. emaul_Liflar Bz - Quifl G d. eeul Lidesr Bi2 - 2 ulewpliBuns@d BrHs BFtens
e. alewL Gxflwalsdenso

Who said Indian Constitution as Cooperative Federalism?

a. Granville Austin b. Dr. Abedkar c. Jawaharlal Nehru
d. Wheare e. Answer not known

AbFHwraler Fal i’ d (pedBedll Fal L Beyd Sl LT g elerd dnpluieuy wimr?
a. Ayeialed LEIQes b. LmsLy onbGugasiy C. :auamieored BB
d. alwi e. alewL OFHflwalevenev

The River Boards Act was passed the year

a. 1956 b. 1956 c. 1952 d. 1950 e. Answer not known
B BHJ Spevewisd FULLD HlenpCeuBmriul L 6.
a. 1956 b. 1956 c. 1952 d. 1950 e. alewL OFHfwalevenev

A man repays a loan of Rs. 65,000 by paying Rs. 400 in the first month and the
increasing the payment by Rs. 300 every month. How long it will take for him to clear
the loan?

a. 10 months b. 15 months c. 25 months

d. 20 months e. Answer not known

QU]  STer  Gumm  dp. 65,000 sSLewen HHUNF QFSHH (WPHeL  LOTHWD  qh. 400

CFHHFDBIT. OIFHaT LIBG @albeum® IHWPD (WPhmHw TS CFasHHuiemball . 300
FBHUTEF CFVISHBBIT. DT BHHH ST DML HDH 6l6lealene] SHTeold GHeneuliLiBLd?

a. 10 THBIBET b. 15 wrsmiser C. 25 DTSHBIG6I
d. 20 wrmmise e. alewL OFHfuwalevenev

‘A’ alone can do a piece of work in 35 days. If ‘B” is 40% more efficient than “A’, then ‘B’
will finish the work in how many days?

a. 15 days b. 25 days c. 35 days

d. 45 days e. Answer not known
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25.

26.

27.

28.

29.

30.

ApRE® L0
‘A’ e HeIGW @h Geuewevedws 35 BT &efled (prmt. ‘B’ syereuy, ‘A’-ey el 40%
FmbBHL HmeT auTWihHeuT eeflev, ‘B’ oemeu] orbd  Geuemevenul  61HHemen  [HTL &H6il60
APQUILITT?
a. 15 B seit b. 25 B el c. 35 BT el
d. 45 B _seir e. alewL OFfwalevenev

If 20% of (P +Q) = 50% of (P - Q) then find P: Q.

a.2:5 b. 3.7 c.7:3 d.5:2 e. Answer not known
(P +Q) afeir 20% wppd (P - Q) aler 50% &b eefled P:Q smewis

a.2:5 b. 3.7 c.7:3 d.5:2 e. alewL OFfwalevenev
Which of the following is not a Cash Crop?

a. Sugarcane b. Coffee c. Tobacco

d. Cotton e. Answer not known

SLPHHMILUBBIGT 615 LI ILUT 60607

a. &(HIbL b. &mi C. Le»aUlenen

d. umsHF e. alewL OFHfwalevenev

Which is longest peninsular river?

a. Mahanadi b. Godavari c. Krishna
d. Narmada e. Answer not known

SUSBL @HFHwmaled LTuD W HeDTe LBl 61517

a. &M b. Garsmmeu) C. F(magewrT
d. miosm e. alewL G flueievemnsv

The play ‘Manonmaniam” was written by

a. Meenakshi Sundaranar b. P. Sundaranar c. U.V. Swaminathar

d. C.W. Damotharan e. Answer not known

‘LoGeTedTLoGmIWID’  6TETEDILD [BTLT& HITeN60 @uIMnslulieuy SO,

a. el & &[bFHTerit b. 1. spgyemit c. 2 Geou. gmOBTH]T

d. f.eweu. sr@THFETT e. alewL OFflualedensv

Keezhadhi excavation suggests that century onwards urbanization has been
occurred in Tamil Nadu.

a. 34 Century BCE b. 4t Century BCE c. 5th Century BCE

d. 6th Century BCE e. Answer not known

SLODBTL 196D [HSHJLOUILDTH60 _ BIBBrennged(hbdH OHTLRIGHBH 6lLmS SO DIHLOTUIE]
FnBIF SBG.

a. 3-b HIBBIES(H GUT.&L.(1p b. 410 BIBBIEHIH OUIT.&Y.(1p

C. 5-b BHIBBIEw(H GLIT.&y.(1p d. 60 BEIBBTETIH OUIT.&Y.(1p

e. alewL OFFfwaleveneo

The Karachi Session in 1931 of the Indian National Congress was presided over by

a. Abul Kalam Azad b. Vallabai Patel c. Jawaharlal Nehru

d. Jawaharlal Nehru e. Answer not known

1931 b WG SITFHAuled BoLOUBB @AbhHw Bxdw STHRISFED OTHTLIQEN  HENeVMLD
US| HHEUT.

a. SIL6L H6VTD HFTH b. eusveoumus L BLed C. auamiteumed Gm(H

d. sGymeden e. alewL OFHfwalevenev
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31.

32.

33.

34.

35.

Kattabomman was hanged to death was executed by

a. Col. Heron b. Major Bannerman c. Edward Clive
d. John Cradock e. Answer not known

&L Gumbener el QbmTemev QFUieuemns BlenpGeumnsluwieui

a. HTeT6d QM6 b. Gy umeTOLDEsT C. eIl auTl &Hlenerel
d. gnenr Sym_ns e. alenL Qgflwealsdenev

Which of this is the wrong answer?
1 metric tonne is
(1) 10 quintal

(2) 1000 kg

a. (1) only b. (2) only c. Both (1) and (2)
d. Neither (1) nor (2) e. Answer not known

&L LGumbwener HrsHell (B OsTmev OFuisums HlenmGeumniuieu

a. S0 QITesT b. Gt uTeITEIDT C. elleuTl &leweroil
d. ggnenr &ym_ns e. alemL Qflwalsvenev

If a man has a mass of 50 kg. on Earth, then what is his weight?
a.490 N b. 490 kg c. 50 kg
d. 50N e. Answer not known

OouBmIeT 6he aledl. HEUBTEISI:

1 Gl fléL 6iT 6TevTLIGI

(1) 10 Gaile&_me

(2) 1000 &Beomaymid

a. (1) w @B b. 2) w Ew c. (1) wBpd (2) P Bewi(Bd

d. (1) wByd (2) euduuBpBled egiefeoeneo e. alewL OFflwealsdenev

Assertion (A): Indian Constitution Provides for an Independent Election
Commission

Reason (R): To ensure free and fair elections in the country.

a. Both (A) and (R) are true and (R) explains (A)

b. Both (A) and (R) are true and (R) does not explain (A)

c. (A) is correct and (R) is false

d. (A) is false and (R) is true

e. Answer not known

ampm (A): b opfusd Sepwiutais CaTHe0 Simenld &HHATOTSF GClFuIOLIL
afleuensd QFUIF MBS

smyenid (R): agbdyorer wppid Bwrwwrear Cxisme bLHd 2 migh CFuidng

aaBm (A) wBpd smemd (R) #f, (A) ssppissten smyewid (R) &4

aBpl (A) wopd smyed (R) &, (A) sppisstear smyeod (R) seum

apm (A) #fl smeod (R) seum

aBpl (A) seup smyeod (R) &if

alemL  OFflwailsoensv

® a0 o

1
Find the compound interest for ZEyears on Rs. 4,000 at 10% p.a. if the interest is

compounded yearly.
a. Rs. 1,024 b. Rs. 1,032 c. Rs. 1,050
d. Rs. 1,082 e. Answer not known
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. 4,000 && 10% ewih el lguied, eBIBHSG QUHPMB Il ly SIS UG (pewpuied
1
25 W BBEHDHEG HMLHGWD Gl Bl Igenid HTewISH.

a. . 1,024 b. em. 1,032 c.en. 1,050
d. ap. 1,082 e. alowL Gzfuialsvemen

36.  Find the Simple Interest on Rs. 35,000 at 9% per annum for 2 years.

a. Rs. 6,300 b. Rs. 6,000 c. Rs. 7,400
d. Rs. 6,800 e. Answer not known
. 35,000-5& ey aipd 9% erafed, BIeNih LETHHEHHBTE HT QUL IgmUIdH BTERIS.
a. . 6,300 b. 5. 6,000 c. . 7,400
d. 5. 6,800 e. alewL Osfuwalsvamen
37.  The mention of the word ‘Meluhha’ in the script is considered to refer to the
Indus region
a. Pictogreaphic b. Cuneiform c. Brahmi
d. Hieroglyphic e. Answer not known
A(SHBHIGBHeMed  STewilILUBL  ‘Oeuest’  aai GBily  FfAbgd  uGHewd
GBIUUSTGSLD.
a. dlegly 1S3 b. @uyefuminb c. Ugmo
d. emamGrralefiid e. alenL Gzfluialsdensv

38.  Which one of the following comes under Political Equality?

a. Right to petition the government and criticize public policy.

b. Removal of inequality based on race, colour, sex and caste.

c. All are equal before the law.

d. Prevention of concentration of wealth in the hands of law

e. Answer not known

SPHHMILaUBSIeL 615 DITFIUIeD FIOSHHIOID GLELD
SIFTRIGSHHBG LLICFUIeG OBBID CUTHS CBTeTmEBMmeN AITFLILG
@D, BB, uTeleld BHID T8 SigliumLuled FoSHHiaILbleTend SHISBBLILIGSH60
FLLSHIT (el Sienetal(hld &FLow
FLLID ewdPeriev Ggeveud QFpley sHBLUILY
alenL  OFflwaisvensv

O an o

39. Makkalai thedi Maruthuvam (Health care services at people’s doorsteps) was first
launched in which district of Tamil Nadu?

a. Dharmapuri b. Madurai c. Krishnagiri
d. Theni e. Answer not known
wEBmeNH Bl HGHHIOD (PHeJed SHLODBTLIQEL 6lhF LTIl L SHFH60 gBLBSHSLILILL FI?
a. simoyfl b. wgiemy C. Fmagenord
d. Gzaf e. alowL OaFlwaisoensv

40.  Tamil Nadu is placed in health index as per the NITI AAYOG report (2018)
a. 1st b. 8th c. bth d. 3rd e. Answer not known

P a6wrs  (2018) opsmaule Uy SFHTHTH  GBUIL S  SOWBTH
BOL HMSH UHHHBG.

a. (IpHev b. en’Lmb C. LYbBHMID

d. ewemmibd e. alowL Gafuialsdamen
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41.

42.

43.

44.

45.

46.

“Azhukkaarutaiyaan kan Aakkampondru illan”. What is the meaning of
“Azhukkaaru”?

a. Wrath b. Absence of anger c. Envious

d. Evil e. Answer not known

‘ OIDSBTBIHL WITET SH6wI hHHLOBUTET pfledemev’- BFHe0 DIPSHBTMI eTeTLISH6T QUTHT WmdHi?
a. dleod b. Geugenmenio C. QuTmTenLD

d. Semwo e. alewL Ozflweaisoensv

To what does Valluvar denote the timely benefit rendered in the Kural “Kaalaththi

Naarseydha Nandri”?
a. Bigger than Knowledge b. Greater than the Ocean
c. Greater than the World d. Higher than the Sky

e. Answer not known

STVHH M0 CFUISH BAMlenW 6U6NEHeU] eleleuTml &L HHMTT?

a. gpleweuait Quiflwigl b. sLmevall 1 Gufluig)
C. 2 60BHMSHAILL GLIflwg d. aumeweral 1 GQuifluig
e. alewL OFFlwalsvenev

is the percapita availability of milk per day in India for the year 2020 - 21.

a. 319 grams/day b. 406 grams/day c. 427 grams/day

d. 467 grams/day e. Answer not known

2020-21 syewigmBrest @bHSHUITANGT BTl e6iBISSTT SHeoll LoeNd LITed E)(HLIL SGLD.
a. 319 &ymb/ e b. 406 Symb/ B c. 427 Hgmb/pHen

d. 467 &ymb/mmeit e. alowL Gzfualsamen

Maha Vir Chakra award on 26t January 2021 won by

a. Naik Digendra Kumar b. Major Vivek Gupta c. Brigadier Sant Singh
d. Colonel B. Santosh Babu e. Answer not known

26 geveufl 2021-60 &Ml FHImM al(hHGI SIGUTHEHHG GUPMIBLILIL L G

a. prws HCshHIT GLomy b. Gumt alBsuds GLiHT c. UGragwiy gmewr &mi
d. siee0 B. #B8x1ad UMTEG e. alewl Oafluwalevenso

Tax levied on personal income is

a. Indirect tax b. Wealth tax c. Direct tax

d. Regressive tax e. Answer not known

St BUT euHTaISH 6T Bk alFslu@Bn el

a. MBS 6eurfl b. Qansa euf c. Crws eufl

d. Gxuiaeis euf e. alowL Gafuialsdamen

Which of the following statements are true about Central Bank or RBI?

(i) The issuer of Currency

(i)  The issuer of Industrial license

(iii) Banker to the Government

a. (i) only b. (i) and (ii) only c. (i) and (iii) only

d. (ii) and (iii) only e. Answer not known

oWl aumid  9evevdl flFfer CGumes S BT uBBlL USTRI(HD UTHSHWRISTED  Ten6l
Fflwimetened?

(i) sl uamsms GeuaflulBaed
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47.

48.

49.

50.

51.

(ii) Qamfpamensy o FolD euLPHIGH60

(iii) osse am&wunss CFUIOLIBHE

a. (i) L Bw b. (i) wBpw (i) wiGw  c. (i) wppd (i) w'E»
d. (ii) wopb (iii) wGEW e. alewL Ozflwalsiensy

The mirror image of the word “STILL”

a.friTs b. 111LS . JdITe
d. LLILS e. Answer not known

“STILL” eieti euniidhemauilest sewremnny  LIDLID

a.frITS b. 111LS c. JdITE
d. LLILS e. alenL Qsflualsdenso

If BAY =28 then WON =?

a. 46 b. 52 c. 67 d. 89 e. Answer not known
BAY = 28 sialeo WON =?
a. 46 b. 52 c. 67 d. 89 e. alowL Oxflweaisoensv

If the H.C.F of 450 and 216 is expressible of the form 23x - 51 then find the value of x.
a.2 b.3 c.4 d.5 e. Answer not known

450 wBpd 216 SFweumeller WBLIOUEH OUTEH auGSHeww 23X — 51, 6B augailsd
GI(FITEL X-631 O] wiTg?

a.2 b.3 c.4 d.5 e. ol Oxflweaisoensv

There are four mobile phones in a house. At 5 am all the four mobile phones will ring
together. Thereafter, the first one rings every 15 minutes, the second on rings every 20
minute, the third one rings every 25 minutes and the fourth on rings every 30 minutes.
At what time, will the four mobile phones ring together again?

a.7 O Clock b.1 O’ Clock c. 8 O’ clock

d. 10 O’ Clock e. Answer not known

QM aillged [T DMeOCUFIH6T o 6fleNiell. HTeMeL 5  eWNdHE 616060T  DIeN6VELIFBHEMHLD
RAIMTE  @eldb@h. e Uar WPpaHed SemeoCudlwmeig @ealteur@m 15  Bibll misefleuid
@reniLmougdl  SlemeoBudlwmeigdl  ealbeumm 20 BOLmSaleD cpeiprougd  DleneoCuFwTS)
alOeurm 25 pLmsefled wBmID  BraETas  SlemeoGudlwmeardl  eelbeurm 30
BILOLRseTad eedldbdlemer ealed Djeneu Weni(Bld eICLTEH Q&IMBTE 6edldEb?

a. 7 wewf b. 1 wewf c. 8 wewfl

d. 10 wewh e. alowL Gafuialsdamen

Pick the odd one out:

a. Horse and iron were unknown to the Indus people

b. Indus people used the red quartz stone to design jewellery

c. Silk dresses were in common use in Indus Culture.

d. Ornaments were popular among men and women of Indus Culture

e. Answer not known

QUTHHSTHMS CHTHOHBHSHHALD:

fbgl Fwbeuel oSBT EHIOL WLBBID GHHMFMU DNHH(HBHHE0M6L

Fbzxl Fwleuel WoHHeT SUTRID OFUIW Feully BB Lewlobsslasaments LW6TLIH S T
Curgieutasll UL®B oL &Cem Fbhal FoOeuel HEOTFFTISHH60 LIWLIGTLITL 1960 E)(HbSH60m
Fbgl FwoGeued SLewt, GUeRT SHUTEOHLD SLUITeTHRIGmeT (BT  Di6wihH S HbSH6aT
allewL  OFflwaisbensv

o an o
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52.

53.

54.

55.

‘Drop, cover, hold” is a mock drill a vowal for

a. Fire b. Tsunami c. Earthquake
d. Riot e. Answer not known

“allap!, cpdHosmel | LgshaHbosmer “ 6ailg aHBITRN @HHens?

a. & b. semid C. BleupHsD
d. seveuyid e. alewL GaMuwealsvemev

hoisted the National Flag atop of Fort St. George on 26th January, 1932.
a. Tiruppur Kumaran b. Arya ( Bhashyam) c. T. Prakasam
d. K. Nageswara Rao e. Answer not known
1932 — aub oewih Meteufl 26 -gub mErelled Lellsh ey CasmienLuier o Fduled Gxhdwid
Camgenwl emsluleuT SO,
a. FHmUyT GLogest b. syflwr (Ureduwib) c. T. Uyasnab
d. K. mrBseveuy el e. alewL OxMwaledenso

spread Theosophical ideas through her newspapers called “New India” and
“Common Weal”.
a. Annie Besant b. Savitri Bai c. Ayyan Kali
d. Sir Sayyid Ahmed Khan e. Answer not known
LTb @Teid HhHHDHHBMENSH SHaalenL W “BHuy, @bHwT’ wBpILd “HTosiaied”
CauIFHSHPTelsHeafent cpeold LIFLILNGITT.

a. SleeNGLF6IL b. grelgbgfiumul C. SUIwieHTel
d. g1 ewFwg OIHWH ST6H e. alenL Oaflweisoensv
Match the following;:
A. Champaran Satyagraha 1.1922
B. Communal Award 2.1932
C. Ahmedeabad Mill strike 3.1918
D. Bardoli Resolution 4.1917
A B C D
a. 4 2 3 1
b. 2 3 4 1
C. 1 2 3 4
d. 4 3 2 1
e. Answer not known
Ledteu(meueteuBenBll  QILIM(H&HIH:
A. gbugner FHHwTSFeHLD 1. 1922
B. augliyeurs almal 2. 1932
C. 95waHTUTS me0d CHTIHN6OTETHE
Gouemev HIMISHFHLD 3. 1918
D. umBmmel giriomesid 4. 1917
A B C D
a. 4 2 3 1
b. 2 3 4 1
C. 1 2 3 4
d. 4 3 2 1
e. alewL. Gafwealedenso

10| Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187  http://www.appolosupport.com/




56.

57.

58.

59.

60.

61.

62.

APPE> L0
STUDY CENTRE
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is a tough and thick white sheath that protects the inner parts of the eye.
a. Sclera b. Conjunctiva c. Cornea
d. Iris e. Answer not known
aeLG 2 _mIHwter, HlgHdH  OeuewieniiB 2 _MBWITE  DIIDHFH  SH6nTeuTlesr
® GITLITHRISEN6NL LITSHIBTHBHBS.

a. eroéGleum b. sewregmigeur C. mefiwm

d. eflerd e. alenL Gafwealsvenso

The adulterant added to coffee powder is

a. Chalk powder b. Sand grit c. Tamarind powder
d. Metanil yellow e. Answer not known

s1ilsameied GaTéasluBld &eolluL Ll GUIT(HeIT SSLD.

a. amsLiierd Gumg b. wentevgIH6TH6NT c. yefl Gumg

d. Gl Lefled EhFer e. alewL OxpMwaledenso

Which year the right to property was removed from the list of Fundamental Rights?

a. 1976 b. 1972 c. 1978

d. 1975 e. Answer not known

abd pewih Slglien o flenwsdel L iguiededmbal CFTéHEIflend BHaHsLLL L gi?
a. 1976 b. 1972 c. 1978

d. 1975 e. alewL OzMuwaisdenso

Which of the following Constitution is written and Lengthiest in the World?
a. USA b. India c. England

d. Irish e. Answer not known

2 6uaIGBW eIISLILLL OBEID WSAD HeNOTeT SIFFUIOMIDLIL| 6157

a. 9IewMsbasT b. @bHuwir C. @mdleunhgl
d. miay e. alowL GaMuwealsvemev

Akash can complete a work in 3 days, whereas Radha can complete it is only 6 days. If
they work together, in how many days, can the work been completed?
a. 1l b.2 c.3 d. 4 e. Answer not known

@ Geouemevenw! S&Ta 3 HTL&6Me0 (WU, g@g) Gouemevemwl JIHT (PI9dhs 6 [BILH6T
SGD. Bmaumd CHbhgH QFUISHTE, DieUGaIMmeVeU 615HHMET BT H6MMe0 (LIQLILIT?

a. 1 b.2 c.3 d. 4 e. alewL OFNwealeoenev

The Dimensions of a brick are 24 cm x 12cm x8 cm. How many such bricks will be
required to build a wall of 20 m length, 48 cm breadth and 6 m height?

a. 25,000 b. 20,000 c. 30,000 d. 22,500 e. Answer not known

@ Geouemevenw! S@ETay 3 HIL&6Me0 (Wit 918% GCeouemevenw! JTHT (PI9HE 6 BITL 6N
SGD. Bmaumd Cabgh QFUISHTE, DieUGMEVEMU 615HHMET BT H61M60 (LIQLILIT?

a. 25,000 b. 20,000 c. 30,000 d. 22,500 e. allenL  Ozfwalsvensv

The price of 10 chairs is equal to that of 4 tables. The price of 15 chairs and 2 tables
together is Rs.4,000. Find the total price of 12 chairs and 3 tables.

a. Rs. 3,500 b. Rs.3,750 c. Rs. 3,840

d. Rs. 3,900 e. Answer not known

10 prpsTedseller alemev 4 Cuemaseaie almevdEdF &wb. 15 HIBSTEOH6T WLBBID 2
Guenazer CaTeHz allewev eh. 4,000. 12 mEIBsTeIH6T WBBID 3 Guwengsefler OLOTHSH alemev
616316017

a. .3,500 b. e5.3,750 C. @5.3,840

d. e5.3,900 e. alenL  Gafweaisvensv

11| Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187  http://www.appolosupport.com/




63.

64.

65.

66.

67.

68.

69.

Which is the India’s oldest fold mountain rage?

a. Zeskar range b. Karakoram range c. Aravalli range

d. Ladakh range e. Answer not known

@bgHwrelen OIS LLPeHLOWITET LOIQLIL| LDMEVSHOBTLT 61517

a. gmesT WMVHESTLT b, STIGHTID M6VSHCBTLIT C. SLJ6Ue06  LDEMEVSOISBTLIT
d. LTS meVHOHTLT e. alenL Gafwealsdemnso

Which nuclear power plant is located in Tamil Nadu?

a. Naron b. Kudankulam c. Tarapur

d. Narora e. Answer not known

SLODBTL 1960 SDSHEHTEID 61hFH Gl HFH6L DI 2 BUSHSH BeNeowld DieLObHSI6NTeng?
a. HGymesr b. amLmigenbd C. SIYMLT

d. mGymym e. alewL OxpMwaledenso

Whose enmity should be avoided?

a. Hatred of Warriors b. Hatred of Word Ploughers (Writers)

c. Hatred of loved ones d. Hatred of righteous men

e. Answer not known

wWnhenLW Uensmwldh Halitbs Geuemr(BLd?

a. alevBeurT ©_1pauT LIena b. QamedBeomT 2 _Ipeul Liend
C. SCUT 2_1pauT LN d. uewGuiT 2_1pauT Ln®
e. alewL Oz flwealsvenso

According to Valluvar under which King will the citizens prosper happily?

a. The one who sustain good words b. The one who bears bitter criticism
c. The one who cannot sustain harsh words =~ d. The one who triumphs vengeance
e. Answer not known

iU’ L. SFeie S HEH6T HHS GUTDEUTTH6NT 6Bl eueTEhauT GHBILILNGSSIBTT?

a. QeeFTed aHLOLEUT b. &s®eh0FTed QUTHILILIGUT

d. sBeEheaTed QUITBIGETHT d. uensmwenuwl GleuedLIGUT

e. alewL Oxflwealevenso

which one of the following is the second largest port in India?

a. Mumbai b. Mangalore c. Chennai
d. Cochin e. Answer not known
Letteu(heusteuimien @b&Hwimallesr @gewiLmougsl Uil SHieBsd 61517

a. (IplevL b. mickeHT c. QFeiener

d. Qarsd e. alenL Gz fweailsvemso

The Padma Vibushan in the field of Arts for the year 2021 was awarded to
in Tamil Nadu.
a. Narayan Devnath b. K.S.Chitra c. Bombay Jeyasree

d. S.P. Balasubrahmanyam e. Answer not known

BMVHHIMBUID  FTHMH6T OFUIHMOSSTH, 2021 SID LEWIYMBSTET, SLODBTL 960 LISHLD
alyeager allha GuBBeuT wimr?

a. mprymwent CHelpmTdH b. Gs.er610.HByT c. umb@u Ggguwinf

d. ererd.9.umeva I IDEwWID e. alL s Mwealsvemen

Natural Satellite of Earth is
a. Andromeda b. Moon c. Sputnitk
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70.

71.

72.

73.

74.

75.

76.

d. Milkway e. Answer not known

yalulesr Suibenswimer HienetsCahmelr

a. SjengGymusm b. Blevey C. eroLLeiés
d. uTeb@aue @i e. alL s Mwealevamev

Who was the first Governor of Reserve Bank of India?

a. Osborne Smith b. N.K.Singh c. A K.Chanda
d. C.Rangarajan e. Answer not known

urys Mafel eumidulle (LPHed DLEHBT WmT?

a. geroBumitesr evOLOg b. N.K.fmi c. AKapar
d. Cymisyreges e. alewL GaMuwealevemev

The Chief Justice and other Judges of the Supreme Court are appointed by

a. The president of India b. The Attorney General c. The Governor

d. The Prime Minister of India  e. Answer not known

2 _FFHFIOGB HMeVMD BHAHILISH BDID SiHer LB BHHludHsemen Hlulwend OFuIglameuT
a. @hHWS GRUITS HMELGUT b. @hFHw DT HM6VMID UGB GhIT

C. SLEDHBT d. @pdw Aysior

e. alewL Oaflwealsenso

The Next term in the sequences

2,59,19,37,..........

a.74 b.75 c. 76 d. 82 e. Answer not known
CamLT auflwauler SIbsHs 2 mILL]

2,5,9,19,37,........

a.74 b. 75 c.76 d. 82 e. alenL  GaMuwalsvemev

In Simple Interest, if a sum of money doubles in n years then in which year it will
become m times?

a.m b.mn c.(m-1) xn d. mn-1 e. Answer not known

Sl aullguied SiFeUTIH N HLEWIHH6MNED BT QLTS 6lelled, DGl THHEN6T 6T (HH6N 60
m IDLmIG SLGID.?

a.m b.mn c. (m-1) xn d. mn-1 e. allenL Gxfwalsoensv

If 15 chart papers together weigh 50 grams then the number of same type of chart in a
pack of 2 %2 Kilogram is
a. 750 b. 700 c. 680 d. 720 e. Answer not known

15 oL axefler Qordhs el 50 Hymbd eeied, 9168 SenamLul 2 Y2 H.d&. eemiuied
9 66N S ML 660 6160016007 56

a. 750 b. 700 c. 680 d. 720 e. alenL QxfNweilsvenev
is called as the “Museum of Human race”.

a. England b. India c. America

d. China e. Answer not known
‘welld Bemiseaien DIHBISTLAWSBLD’ 6T DIDPSHBLILIGDBSH.

a. QRFeonhHal b. @bHwr c. o6wfldbsr

d. demm e. alenL Gafwealsvemso

Pick the odd one out:
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77.

78.

79.

80.

81.
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a. Chalukyas - Badami b. Chalukyas - Vengi c. Chalukyas-Nandhi

d. Chalukyas - Kalyani e. Answer not known

QuTEbHHTHMS BHTMHOHHHSHMLD:

a. uUTETO FmEheHESIWTHeNT b. Qoumd&F gmeEnbBWITaHel C. BhHHF FTEHHBHUWITH6N
d. seowmeni FrEHoHAWLITHE e. alewL Ggflualsvenso

The concept of social justice arose in the

a. 16th Century b. 18th Century c. 19th Century
d. 21st Century e. Answer not known

FepSBHh GTEMID  H(HHSBI(HEUTETSH 60 2_(HeUTeIHI

a. 16 — b BIBBIWIG b. 18-b mBBTEwI(H C.19-b BIBBTERIH
d. 21-eug BHIBBTERIH e. alowL GaMuwelsvemev

Who has termed justice as fairness?

a. Samuel Freeman b. Thomas Mertens c. Robert K. Merton
d. John Rawls e. Answer not known

BHOW BWTWID 6Teiml dnpsluteui wimir?

a. gmupGeued MGG b. Hmioed GLoit L 6T c. gmu’ G GUoT LT

d. e gmeueLerd e. alewL OxMwaletenso

“The fire outside can envelop one to eternal sleep;.....
but .... when cannot one sleep?

a. One cannot sleep in the crisis of poverty

b. One cannot sleep with the hoard of riches

c. One cannot sleep afflicted in illness

d. One cannot sleep in continuous misery

e. Answer not known

OBE@BLIGT BBl gl UBGSHHISH SHITHISEOTLD

LMD, GGG SHMHIS (PIQUITSI?

a. eupiemouTef(hBGLD CUTH SHMHISLPIQWITS

b. QFeveud MenmHE (HBECLITSHI SHMHBIB(LPIQUITS

c. Grrulelr sGmw LWGHH(HHSHTED SHMTHIS (WIQUITSH

d. seub OFHTLTHE ubsH CBTEBIQHHITE SIS (LIQUITH
e. alewL Oxflwelsvenso

Who according to Valluvar becomes happy to be together but despairs separation?

a. Profession of Poets b. Agricultural Industry  c. Medical Field

d. Trade and Commerce e. Answer not known

Gxmb Gumg wapeugid Lfluyd Gurgl 1eTD SHeMIGeUSHID WTHDLW CHTIH60TS 66T EMH6UIT
GBI (B lermmT?

a. yeveum QHmfed b. 2 et GQHmHed C. I(HBSHIUT CFHTHed

d. auemilsm Gamped e. alewL Gxpfwalsdenso

According to which Article, the elections to the Lok Sabha and the Assemblies of every
State shall be conducted on the basis of Adult Suffrage?

a. Article - 234 b. Article - 263 c. Article - 326

d. Article - 363 e. Answer not known

DSHENMeME  LOBMILD  @EIOeUT(H  OTHEL  FL L OSIBRISTID 6uwigl  eubGCHTT  eurd@fleniouilest
SlgtiuemLuied  BxiTHed BLHSULL  CouswiBd eTeld  Fmpild  AbhFHw  SFFluwievenioliiesr
FULOdMey wmrgy?

a. siLidfley — 234 b. sLinifley — 263 c. FlLOdfe — 326
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82.

83.

84.

85.

86.

87.

88.

d. srLmife; — 363 e. alowL GaMuwalsdemev

Yaas cyclone was formed in

a. Arabian Sea b. Bay of Bengal c. Red Sea
d. Dead Sea e. Answer not known

wmerd Gmmeue 6TmiE o (Heumendl?

a. 9LIGbHL 60 b. aumsten alflgLr C. GFmIBL 6L
d. gnésLed e. alenL Gafwealsvenso

According to the Growth rate the successful five year plans are

i. First five year plan ii. Third five year plan

iii. Fifth five year plan iv. Seventh five year plan

a. 1, ii and iii b. ii, iii, and iv c. 1, 1ii and iv
d. i, ii and iv e. Answer not known

auenT&d allalmpdhHer SiglitmLuiled GCeuBpiwenLbdH MbIHTwIbHSH HL L M6

1. (PSH6eOTD WbHFHTew(HdH HIL L LD 1. cPEBTD WbSTemi(HdH S L LD

1ll. WBSTD WHFHTEw(HH HL L LD V. gomeugl LbaTeNIBSH SHLLLb

a. i, ii @b il b. ii, iii, wB@id iV c. 1, iii o@md  iv

d. i, ii wo@pp  iv e. alewL OxNwealeoenev

India is the home to percent of the World’s poor.

a. 12 b. 18 c.22 d. 20 e. Answer not known
2 _UBHFH60 2 6o OOTHSH JeMp LDSHSH6I60 FHESHD QHFHWTaled © 6TererT.
a. 12 b. 18 . d. 20 e. alewL  Oafwalsbensv

If "Clock’ is related to ‘Time’, What word is related to Thermometer?

a. Heat b. Radiation c. Energy

d. Temperature e. Answer not known

‘BREIMHHBE  OFHTLIYDLW  aulTdHemd  “bewil”  eedlled  Oeulilomeidg O TLTLemL W
QUTTHENS 616016017

a. Geulind b. sdieiFs C. SYBM6D

d. Geulimensv e. alewL Gafuwealsvemnsv

What is the probability that a leap year selected at random will contain 53 Saturdays?

a.1/7 b. 2/7 c.3/7 d.4/7 e. Answer not known
Q@ OBLLTeNge0 53 FelbIIPmE6T HMLLILSBHTEN HHDSHDH6) HTewSH?
a.1/7 b.2/7 c.3/7 d.4/7 e. alenL  GaMuwalsvemev

Pari needs 4 hours to complete a work. His friend Yuvan needs 6 hours to complete the
same work. How long will it take to complete if they work together?
a. 2 hours 20 minutes b. 2 hours 40 minutes c. 2 hours 24 minutes

d. 2 hours 44 minutes e. Answer not known

Qm Geauemevenws 4 el CrysHaled umfl QFuISmrT. weust 9I18% Geuemevenus 6 D6
CrrsHglev GauidprT eeflsd @meumb Caiba SibH GoumevenwdF OQFUIFH (LPYHD  615HM60T
el GBILOTEGWD?

a. 2 wefilder 20 Pl miseit b. 2 wewiser 40 MO BiGHeiT

C. 2 wenlldell 24 HIOL MibeiT d. 2 wenlser 44 HOlLBisbelt

e. alenL Oz flwalsvemnso

In Tamil Nadu the lowest sex ratio has recorded in the district of
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89.

90.

91.

92.

93.

94.

95.

a. Vellore b. Cuddalore ¢, Nilgiri
d. Dharmapuri e. Answer not known

SLODBTL 196D 61 LTI LD Genmeurel Lmellen aldlsd Clemem(heiteng)?
a. Geugyrrit b. sLeuni C. Beod
d. smoyf e. alewL GaMuwialsvemev

Where did the first sub- urban railway started in India?

a. Kolkatta b. Chennai c. Delhi

d. Mumbai e. Answer not known

@hHwmaler (pHev UBHST Qruied CUTsGarHEH 6mhigHsS OHTLmISLILLL &7
a. OBTEOBHHT b. Qseiene c. GLeval
d. @ienLs e. alewL GaMuwielsdemev

The Fort that was not controlled by Pulithevar is

a. Nerkattumseval b. Vasudevanallur c. Panayur

d. Sivagiri e. Answer not known

L,eI58xHeuflenr s BLUTL9B@&HeT Geveors GamemL SLGLD.

a. OpmsL BIeFeaIeD b. aunraBsHeupeoayITT C. LIGNGOIULYT

d. feudi e. alewL OxMwaletenso

Who among the following poet had relations with Odhisa country?

a. Kamban b. Sekkilar c. Ottakuthar
d. Jayamkondan e. Answer not known

eflgm BILCLIG O TLTYe»LUI Ljeveui wimT?

a. slu b. Gzt C. QLLBFGSH
d. GewmGsmemi mt e. alewL Gafwalsdenso

‘Periyar’ the title was conferred on him by Tamil Nadu Women conference held in
Madras on

a. 1936 b. 1937 c. 1938 d. 1939 e. Answer not known
.Qeu.JTelBE) S et OFeemenuied  HOLOUMB &S fT  LOTHILIQED
‘Quilwr™ 6Tty LILLLD 6upmIsSLILL L .

a. 1936 b. 1937 c. 1938 d. 1939 e. aleowL  Oafwalsbensv
Naujawan Bharat Sabha was founded by

a. Bhagat Singh b. Subhash Chandra Bose c. Veer Savarkar

d. Chandrashekhar Azad e. Answer not known

‘boUEUTET LMY FUT 6IeIB Sieniolienl BT SLEUITT.

a. UsSHIm b. sutey apaly Gumerd c. off gTeuTshaiT

d. spdly Gsay a5 e. alewL Gaflualsdenso

Due to its great commercial importance, it is called ‘Black gold”.

a. Petroleum b. Coke c. Coar tar

d. Ammonia e. Answer not known

alenllas FHWTS (PeHHWSHBHIOUD UTUIHSHITEL DHMeD ‘S(HUIL HRIBD 616  DIeNLDSHE6HBEIT.
a. Out Gymedwid b. sevsi c. &GS

d. ouwGwmefwm e. alewL Gafualsdenso

The element that combines with other elements to make medicine for treating diarrhea.
a. Bismuth b. Zinc c. Calcium

16 | P a ge APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187  http://www.appolosupport.com/




9.

97.

98.

99.

100.

d. Gold e. Answer not known

abd SHaNoHmeH BB  SHoalomsebl el  CaidHg auIBpIICUTESE FEFmaFshEd LDHHHTHL
LweTL(B &SI et eott?

a. Lerding b. s155mHTHED C. smeodlwib

d. smsb e. alewL GaMuwielsdemsv

Which day is celebrated as Human Right day universally?

a. 9th December b. 10th December c. 11th December
d. 12th December e. Answer not known

2 608 Welgh o fenwsel FHaoTs CaTeRILTLLILGLD BreT 6157

a. 1pFbuT 9 b. wabuT 10 C. lggbu 11

d. wabur 12 e. alewL Ozfuwalsdensv

Which year the Tamil Nadu Legislative Council was abolished?

a. 1985 b. 1986 c. 1987 d. 1988 e. Answer not known
oabd et SODHETH FLL GCeveney HoHSLILILL GI?
a. 1985 b. 1986 c. 1987 d. 1988 e. alewL Gafuwelsvemsv

The traffic lights at three different road crossings change after every 48 seconds, 72
seconds and 108 seconds respectively. If they change simultaneously at 7 a.m., at what
time will they change simultaneously again?

a.07:12 b. 12:07 c. 07:12:07

d. 07:07:12 e. Answer not known

438 allemgsmet, 72 ealemesen WHBBID 108 alamyseEnds@l LUBG cpaipl GousiGoump FTenso
GDBIBG Oeul(Bhdeafed BUTHGHeuTHE allendEHDHeT LTBISEIBL. HTeme0 7 Wwaldbg Sieel Gy
Gryshalev omplermeo, 6hd CHrHaled eneu Wi @Gy GhrsHaled LommiD.

a.07:12 b. 12:07 c. 07:12:07

d. 07:07:12 e. alenL  Oafuialsvemev

A river 2 metres deep and 45 metres wide is flowing at the rate of 3 km/hr, then the
amount of water that runs into the sea per minute is

a. 3000 m3 b. 3500 m3 c. 4500 m3

d. 27000 m? e. Answer not known

2 15 ouoib BmId 45 18 Qimeoweten @b uBiledmbE Brmeig 3 km/hr Gousdhdev
&L6060 HVHHIBH 6TdeL @h BIOLSHHD HLejed HevbGHD Bl Siemey

a. 3000 m?3 b. 3500 m3 c. 4500 m3

d. 27000 m3 e. alenL  GaMuweailsvemev

Find the sum in which amounts to Rs.2,662 at 10 % p.a. in 3 years, compounded yearly.
a. Rs.1,500 b. Rs. 1,800 c. Rs. 2,000

d. Rs. 2,500 e. Answer not known

10 % oewi el iguled, QWIBHES @b (LPMB QI g HEWIGHLLILILLT6, 3 S em(hderen
6bdH DIFEUTIHI €H.2,662 GCHTMHWTGLD.

a. Rs.1,500 b. Rs. 1,800 c. Rs. 2,000

d. Rs. 2,500 e. alenL  GaMuwialsvemev
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